
PACK P/M

1 Table Leg #1 (w/Inserts)(L=887mm) D388-113 R56603 Wood 1 F M

2 Table Stretcher #1 (L=602mm) D388-113 R56604 Wood 1 F M

3 Table Stretcher #2 (L=624mm) D388-113 R60387 Wood 1 F M

4 Left Side Panel (782x198x15mm) D388-113 R56606 Wood 1 K M

5 Table Leg #2 (w/Inserts)(L=887mm) D388-113 R56607 Wood 1 F M

6 Bottom Panel (567x180x15mm) D388-113 R56608 Wood 1 K M

7 Adjustable Shelf (567x180x15mm) D388-113 R56609 Wood 2 K M

8 Table Leg #3 (w/Inserts)(L=887mm) D388-113 R56610 Wood 1 F M

9 Right Side Panel (782x198x15mm) D388-113 R56611 Wood 1 K M

10 Back Panel (782x576x15mm) D388-113 R56612 Wood 1 K M

11 Table Leg #4 (w/Inserts)(L=887mm) D388-113 R56613 Wood 1 F M

12 T Bracket (w/Screws) D388-113 R56614 Metal 1 G P

13 L Bracket (w/Screws) D388-113 R56615 Metal 1 G P

14 Hinge (w/Screws) D388-113 R56616 Metal 6 G P

15 Shelf Support (w/Screw) D388-113 R56617 Metal 12 G P

16 Insert (1/4in x 12mm) D388-113 R40057 Metal 6 G P

17 Insert (5/16in x 25mm) D388-113 R07124 Metal 8 G P

18 Hardware Pack (Table) D388-113 R56618

5/16inx60mm Allen Bolt (8)

1/4inx38mm Allen Bolt (6)

5/16inx19mm Flat Washer (8)

5/16in Flat Washer (8)

1/4inx13mm Flat Washer (6)

1/4in Lock Washer (6)

4x45mm Screw (2)

3x12mm Screw (14)

4mm Allen Wrench (1)

Shelf Support (12)

1 G P

19 Cushion (w/Frame) D388-113 R56628

Fabric Content:

100% Polyester

Cleaning Code: S

2 D M

20 Chair Leg #1 (w/Inserts)(L=545mm) D388-113 R56629 Wood 4 F M

21 Chair Stretcher #1 (L=430mm) D388-113 R56630 Wood 4 F M

22 Chair Leg #2 (w/Inserts)(L=545mm) D388-113 R56631 Wood 4 F M

23 Chair Stretcher #2 (L=290mm) D388-113 R56632 Wood 4 F M

24 Decorative Nail (12x15mm) D388-113 R56626 Metal 120 G P

25 Insert (1/4in x 25mm) D388-113 R04580 Metal 16 G P

26 Hardware Pack (Chair) D388-113 R56633

1/4inx60mm Allen Bolt (8)

1/4in Lock Washer (8)

1/4in Flat Washer (8)

4mm Allen Wrench (1)

4x45mm Screw (8)

2 G P

MATERIAL QTY.

REPLACEMENT PART DESCRIPTION FORM

MRP#

MODEL #: D388-113
FACTORY USE ONLY!!

PART# DESCRIPTION USED ON:

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. April 2019 Page 1 Of 2



April 2019All Rights Reserved.SIGNATURE DESIGN BY ASHLEY® Page 2 Of 2

REPLACEMENT PART DESCRIPTION FORM

MODEL #: D388-113

1816

1514

13
12

19

20

21

22

23

26

24
25

1

8

2

11

3

4

5

9

10

7

6
17


